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+ Which of the following statement is not true?
(1) Every Cauchy sequence is bounded.
(2) Every convergent sequence is bounded.

(3) The sequence {2
2
5 -

(4) Every bounded sequence has at least two
limit points.

(5) Question not attempted

- If x — 1) and (x + 3) are two factors of

(x + ax +b), then remaining factor is -

Mx+2 (2} x —

@) x+1 (4) x - 2

- (8) Question not-attempted

. Ifz=x+iy,x,yGR;i=\/—_
then the locus of z is -

(1) a parabola (2) a circle

() aline (4) an ellipse

~ (8) Question not attempted

- Domain of the function f(x) =v2Z —x—

M12,3) @ (-3,3)
(3 (-3,4) (4 (-3,2]
(5) Question not attempted
4 _ [XZ] .
. _]'3 Tk s T T dx, where [x] denotes the
greatest integer less than or equal to X, is equal
tfo - .

} ¥ n € N converges to

(-1 .¢E
30 @3
2

(5) Question not attempted
- If AABC is similar to ADEF, such that

BC =3 cm, EF = 4 cm and area of AABC =
54 square cm, then the area of ADEF is -

(1) 96 square cm (2) 27 square cm

(3) 69 square cm (4) 108 square cm

(5) Question not attempted

- General solution of the differential equation
y2dx + 3xy - 1) dy =0is-

M 2xy’-y?=c ) 2xy* —y*=c

@) xy -y*=c @ 2xy’-y=c

(5)- Question not attempted .

ls—’

1. fferfad § 9§ G oo W T 82
(1) Y% P ATHA URIE Bhil o
2) 7% AR ST TRes BRN B

@ g {21 vne N 291 e ol
gl
. (8) vi% UReE IHA B DI G A A AN
fag 8@ 71
(5) SreiRa 9
2. I *+ ax + b) P T THEETS (x ~ 1) 3R
(x + 3) &, O A9 g [OIETS § —

() x +2 @ x-3
@ x+1 : @ x-2
(6) eIl e '
3. I z=x +iy, X,y ER; i =V—1 3R z+2| -
ol z ot g & —
(1) T& Raerd (2) TF ga
(3) TF W @l (@) 7% <reigd
(5)- SrRIRT w3
4 BE ) =VZ—X- 7 iﬁrmv—cr%—
M 2,3 (2) (<3,3)
@) (-3,4) @ (-3,2]
(5) IFfaRT uee - _
R p— dx, &t [x], FEOH TOIE

3 [x2 — 14x+ 49] + [x?] '
X SNEY I BH BT Ieh Pl 8, NS & —

(1) 1 (2)3
. 2
3 ' 1
®0 .(4)5.
(5) SrgRIRT W&

E-u%AABCADEFEEsﬂWW%“ &
BC = 3 ¥, EF = 4 9#. 3R AABC @&l
8% = 54 9 QA &, O ADEF &1 836
3

(1) 96 == AL @279 §A.
(3) 69 | () 108 =f |AL
(5) ar<IRa ueH '
7. Igeed THH y2dx + (3xy ~ 1) dy = 0 &I
A B B — .
(1) 2xy3fy2=c (2) 2xy*—y*=c
3) x5y —y?=c # 2xy*-y=c
(5) 3raIRa UeH

55. %
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8. Four jobs are to be done on four different

machines. The cost (in Tupees) of producing i™

job on the j™ machine is given below -

Machines
Mi (M2 | Ma | Ms

h |15 |11 |13 |15

Tobs| 2 | ¥ 132 12 |13

J; (14 |15 |10 |14

L |16 [13 [11 |27

The minimum assignment cost is -
(142 @ T55
() %45 4 T49

- (5) Question not attempted

9. f 3ab,C are unit vectors such that

A-b+c= 0, then angle between 2 and €
is -
™ T
(1)2 (Z)E
113
@3 @

(5) Question not attempted
10. f_TtT/[Z(x3 +xcosx+sinSx+ 1) dx =
M 2z 20
3) g ¥z
(5) Question not attempted
n
11. The series N2, (1+5) is-
(1) Divergent
(2) Convergent
(3) Infinitely oscillatory

(4) None of these
(8) Question not attempted

12. If sin [sin‘1 (%)+ cos“ljf] =1, thenx = -
(Mo 21

1

(@) @3
(5) Question not attempted

13. In the first quadrant, area of the region bounded
by y=+vx x= 2y + 3 and x-axis is -
(1) 18 $q. unit (2) 2-\/5 Sq. umnit
@) 33_4 sq. unit, {4).9 sq. unit

 (5) Question not attempted

8. Ww—wmwwmmﬁrﬁ%l
il WM w® id B $ Swed @ arE
(o &) T T § -

ERIC

N My | M, ([Ms | M

J» |15 (21 |13 |15

BR 2 117 |12 132 113

la 114 115 110 |14

Jo |16 113 |11 |17

(1) 42% (2 55%
@) 45% 4) 49%
(5) IrgaRa yw

% aR 35,0 WR Ry W R ¥ B
A-b+C=0,0TIRTP = PO Y —

' (1)5 @2
@3 LR
- (8) JIAd U

10. f_TZ;Z«_(x? +X cos X + sin®x + D dx=
- (1) 2% @0
(3)321. OF
(5) 3T e
11, 3of ¥, (1+§)n g -
(1) sourt
(2) vy
(3) suRfaT e
@) T ¥ B1¥ E,
(5) srpailRa weq

12. If sin [sin‘1 (—;-) j'I-cos‘ix] =1, al x=

(10 @1
(3)< @3
(5) ST W

13. e Uig 'ﬁ;y: X, x=2y+3 Sﬁ?’ X-a:[&:f-\q
URIE &3 BT G35 & —

(1) 18 7 g1g @ 2yZ ot s
(3)33_4z|1f§q-7r5‘ 4) 9t e
(8) arIRa g

55-
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14: Area of the smaller region bounded by the curve 14~ T 4x%+9y2 =36 iR Y@ 2x +3y=6 ¥ TRIg
4x? + 9y = 36 and the line 2x + 3y =6 is - BIC & BT §AF & —
(]) 3 (—E+ 1) sq. unit (2)%"—-‘.1 $q. unit (1)3 G_,_ 1) ol gars (2)3?“ — 19 S
@3(5-1)squnit (@35 +1'sq. unit @3 (2~ 1) 7 gord (@3 + 1 o
(5) Question not attempted {5) :ﬂgﬁﬁa PECH

15. Tn the set of all straight lines lying in a plane, the  15- % T#aa # MM Wit WRe Y@RT & 99z=9
relation defined by "mutually perpendicular" is - # oI TRER @aq BN B 9T § —
(1) Anti - symmetric  (2) Transitive (1) wferemtag (2) IHHF
(3) Reflexive (4) Symmetric (3) e @) gafyg
{5) Question not attempted (8) srgaRa we

16. The sphere x* + y2 + z2 = 25 is cut by the plane  16- THaT 2x + 3y — 62 =28 GRT el x* +y2 +77=25
2x + 3y — 6z = 28, the radius of the circle so @ wirseT § W 99 @ Boar § —
;l;t‘;mefl . (2) 13 uni 35t @ 13 51

units units ..
3) 4 557S 4) 5 zp1S

(3) 4 units (4) 5 units @) 4 @S5
(5) Question not attempted (5) srgeiee s

17.. A 20 m deep well with diameter 7 mis dugand 17~ T& 7 #iex &4 aren 20 Hiex T80 3l Gial
the soil from digging is evenly spread out to form T AR 39 gar 9 freell fEl B oA
a platform of size 22 m by 14 m. The height of w9 § HADT 22 AT O 14 HTW IFER BT
theplatformis—(n=?) 1:5 e - T E] 5 £ @ H
(1) 3.0m (2 3.5m 1 3 (T:ﬂ;-j) 5
@25m ®75m 30 @35
(5) Question not attempted () 2.5 et @75

FR “
P (8) arRe 5e

18. Sum of ‘n’ terms of 8 + 88 + 888 + ..o is  18: 8+ 88 + 888 +........... % ‘0’ Gl BT ANT AR
equal to - -
(1)831 [107+1 — 9p + 10] (1)2:’;1 [107+1 — 9n +10]
) % [107+1 + 9n — 10] @) 5‘11 [10™+1 + 9n — 10]
@) 811 [10°+1 — 9 — 10] 3) ?fI [107+1 — 9n — 10]

8 8

(4) - [10" — 9n — 10] ﬁ (4) 5;[10" —9n — 10]
(5) Question not attempted. o (5) srgaRa ue

19. ‘The angle, which is double of its. supplementary ~ 19- T8 BT, Sl W WP BT BT G g,
angle, is - - BT —
(1) 75° 2) 120~ 1) 75° () 120°
3 130° OR: 3 130° (@) 80°
(5) Question not attempted : (5) aﬂﬁﬁa b
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20.

21

24,

22,

11003 m

23.

25,

Let Y11, x2 = 990. If M is the mean and o'is the
standard deviation of xq, Xy, ....,
value of M2 + 62 is -

(1) 100 (290

(3) 95 4) 85

(5) Question not attempted

X11, then the

- How many words can be formed by taking four

letters ‘from the: letters of the word ‘JAIPUR’,
while A and I are always included?

(1) 72 @6

(3) 24 4 144

(5) Question not attempted

The height of a tower is 100 m. When the angle
of elevation of the sun changes from 30° to 45°,
the shadow of the tower becomes x metres less.
The value of x 1s -

-

100

@7z m

&) 100(v3-1)m (4) 100 m
(5) Question not attempted

f(x) = — 2x* — 9x? — 12x + 1 is strictly increasing
in interval -

(1) (—o0, —2) U (- 1, )
(2) (-2, 00)

@) (-2,-1)

(@) (—o0,—1)

(5) Question not attempted

The nature of the origin of the curve

y2 = a’x? +bx’ +cxy?is -

(1) a cusp (2) a conjugate

(3) a node (4) both cusp and node
(5) Question not attempted

. ¥f ‘the number 1.27 is expressed in the form

of E, where p and q are integers; HCF(p, q) = 1

20.

21.

el

B9,

23.

25.

(1;25100\/§7ﬂ3?

M Wi Rilxf=990 ®| 3l
X1, X3, vy X171 BT AT M AR 999 e o8,
WM +6>H A & —
(1) 100

(3) 95

(5) SFaiRer e
‘JAIPUR’ 915 & @&Ri 9§ aR 3R} &7 o
RS W T o wey § S A TR I

(2) 90
(4) 85

Tag Aftaferg fry wiRi?

(1) 72 26
(3) 24 (4) 144
(5) $rmRa w1

@‘Wtﬁm‘”aﬁlooﬁﬁ%lmqﬁ?ﬂ .

S P07 30° 9§ 45° qRaftd 8 orar 8,
AMR BT BT x HWie F9 & Wil 81 x &I 9
3

100

(@) iR
@) 100(v3 — 1) Hiex @ 100 ¥iex
(8) SR u=A

P NI F f(x) =
=R el 27

() (-0, ~2) U (= 1,0)
@) (-2, )

@) (~2,-1)_

@) (—o0,— 1)

(5) IR

— 23— 0x* —12x + 1

+ @B y2=a’x’ +bx’ + cxy’ W g B upha

(@) T B
4) STy g2 ArS <l

(5) I=IRke weA
ﬁl.ﬁﬁﬁ%mﬁm&aﬁmm,ﬁﬁ
p 3% q gurie %*;_ AT, (p, q) = 1 T q = 0, T

andq # 0, thenp + q—25= p+q-25=
Mo 3 Mo (2 3
(3) 2 @1 32 @1 .
(5) Question not attempted (8) argaRa e
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26. The singular solution of the differential equation 26, srgeer-Ti@oT'y = px + p - p, (ST p = %) P

dy, .
y=px+p-p’, (Where p="_)), is - faftm s & -
3 —113/ 1%/ —11°/

— o [X¥L] 72 = 1[x1] 2 I it = L[*1] "2

(1)y-\2 3] @y =3 3] My=2 3] @y=3 3]
117 —11%/ 3. —11%/

3) y = 1[**1] /2 =2 |X2] 2 3) y = 1[*+1] /2 =2 %1} 2
()y"z 3] (4)y—2[3] ' ()y_z 3] (4).5'_2.3]
(5) Question not attempted . (8) arpaRa weA

27- If sum of 1 + 4x + 7x® + 1023 + .. 00, T 1+ 4x + Tx2+ 1023 + .00, ST
where Ixl < 1, is -i%, then x equals to - Xl < 1, T T % B, O x SRR '&PFTT -
OF m3
@7 @7
3)3 CER
CF (@<
(5) Question not attempted (8) sIRG 9o

28. In usual notations, Cauchy — Riemann equations -G MR EaaEt § ga w0 § ari—ime
in polar form are — AR § —

du___dv du_ v du__ _dv du__ v
()5 =T andrz= —= (1);_1'363#“%_ ~
du_1%v o qioe_ _ % (@l o l0u_
'(2)6_r_r69 andrae_ ar (2_)6r_r aesﬁ-\rrae_ ar
du_ 1dv 18 _ v - du_ 13v 5o 13u_ v
@ 5= T M 1%~ 5 B o= AR5 o
7 PP qu_ ov u_ u_
W5 = —rgpandrz= 2 5= —r5 IRrzg=o
(8)- Question not attempted (5)-srpaa ae

29. If f(x) is differentiable in the interval [2, 5], 29- TR =W [2, 51 # f(x) IJOFHAE &, &
where f(2) = % and f(5) = %, then there exists a f(2) = % AR £(5) = %, 9 UH & ¢, 2<c<5
number- ¢, 2 < ¢ < 5 for which f '(c) is equal to - femr Erft fiaas forg £'(c) BT A R 5=
(ﬂ%’ : ('2)§ VE @3
3) 1_10 (4) None of these @) Tlo @) s 9§ 1§ TEl
(8) Question not attempted (8) argeiRe weA _

30. In three dimensional geometry, which of the . e sy 3 e Y gw wie aei
following angles made by a line with co-ordinate % 9 IR T N | B e gwag
axes are not possible? » B 7
(1) 300, 600, 90° (2) 450’ 900, 45° ﬁ (1) 3O°§ 600, 90° (2).450’ 900’ 45°
3) 60°, 45°, 60° (4) 30°, 45°, 60° T (3) 600, 45°, 60° (4) 30°, 45°, 60°
(5) Question not attempted (8) araRa v ‘
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31. General
x% + ylog, y = xye* is—
(1) log.y =xe* + ¢
(2)-%10gey =e*x+1+c
() xlog.y =€* (x-1)+c¢
(4) log.y=e*(x—-1) +c¢
(5) Question not attempted

82. IV is the volume enclosed by any closed surface
S, then ff_(F.fi)ds (where F = x + 3zE) is equal

to-
(M 3v ) 1v
@) 6V (4) 4v

{5) Question not attempted
33. If AD, BE and CF are medians of a triangle

ABC, then which of the following statement is

true?

) (AD + BE + CF) >3 (AB +BC + CA)
(2)- (AD + BE + CF) = (AB + BC + CA)
3} (AD + BE + CF) < (AB + BC + CA)

(4) None of these
(5) Question not attempted

34. If y=1+cos0 ; x =0 + sinb, then—ate—;

dx2
is equal to - . .
"3 @-3
@ -1 @1

(8)-Question not attempted
35. 1 # = xi + yj + 2K, then div Fis -
(13 (21
@ o (4)2
(5) Question not attempted
36. A plane meets the co-ordinate axes at points A,

B and C such that the centroid. of AABC is-

(2, 3, 4). The equation of the plane is -

(M 4x+3y+62z=18 (2) 4x -3y +6z=23
(B 6x +4y+3z=36 4 6x+4y+3z=18
(5) Question not attempted

37. fnm Vxe* dxis equal to -
(¥ @ v
2
3) V™ @0
@) :

(5) Question not attempted ‘ :

solution of differential equation

ul!; -

31.

32.

33.

JqPHe TH’?IET\’UT x-- + ylog, y=xye* @I
NS T § -

(1 log y=xe*+c

(2)= logey efx+1+c

(3)xlogey—e x-D+c

@) .logey ="e* (x~1)+ ¢

(5) araRa g¥q

I VTP 95 I8 SERT R gon omae
ar f_ﬂs(ﬁﬁ)ds (STEF E = xi + 3zK) SvIew & —

M 3v (2 1v
(3 6V @) av
(5) IrgmiRa U

If§ AD, BE @ CF T& 3R ABC o

- AiRgeY 8 @ AR ¥ ¥ ST T
 w

) (AD + BE + CF) > (AB + BC + CA).
(2)(AD + BE +.CF) = (AB + BC + CA)

. ® D +BE+CF)<§'(A‘B + BC + CA)

* 35

@ = & P T8
(8) SrgaRe W

-?Jﬁy 1+ cosB ; x=190 +5in0, ?ﬁﬂ—g %
BT AN & —

. '(1); (2)—"
Br-1 @1

). argaRy we
g = xi+yj+ 2K €, & dive & —
03 (21
@0 @2
(5) ergaife oo

36.

37.

(1) 4x+3y +6z=18
:(3) 6x+4y +32=36

.‘W’Hﬁﬁﬁﬁ%&ﬂaﬁriﬁﬁﬁaﬁABaﬂ?C

T 9 UPR Feal & & AABC &7 B=wd
(2,3,4) | TS BT THIGROT & —

(2) 4x - 3y + 62 =23
(4 6x +4y + 3z =18

(5) SrgaRa v
Jy Ve dx R &~
@ Jx

@ @0
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38 Set{;ll- :nEN}‘is-
(1) Open but bounded
(2) Neither open nor closed but bounded
(3) Closed and bounded )
(4) Unbounded N
(5) Question not attempted

. XxXx-—3 +2 z+4
39. If the line -~ = *— = =

is contained in the
plane px + qy — z =9 , then_the value of p* + ¢*
is -

(1) 5. 22

(3) 18 (4) 26

(5) Question not attempted

40. 1f the difference between the circumference and

radius of a circle i§ 74 cm, then the area of the
circle is — (‘it = -272)
(1) 516 sq. cm (2) 1048 sq. cm,
(8) 524 sq. cm () 616 sq. cm
(5) Question not attempted
41. If (Z, +) be a group and let function
f: & + — (@ +) be defined as
f(x) =2x, V' x € Z, then function { is -
(1) not horﬁomorpMsm
(2) onto homomorphism
(3) one-one homomorphism
(4) None of these
(5) Question not attempted

42. AABC is similar to APQR, such that the
- perimeters of AABC and APQR are 36 cm and
24 cm respectively. If PQ = 10 cm, then AB =

3. we {2 neN} & -
(1) faga =fF wReg
(2) 1 a1 dga =1 & fRga «feT WReg
(3) wqa T4 ez
4) IuReg
{5) srf<iRer U
0. R AL
px+qy—z=9 # fem & d p?+ ¢ &1 91
y_ | |

A

(5 @2
(3) 18 @ 26
(6) argaRa e

20. gfy W g9 @1 IRY T B &1 A
749, &, A g0 w1 dower & — (m=2)

(1) 516 & ¥ (2) 1048 °F A
(3) 524 5 |, (4) 616 a7 HAL
(5) SrgaRa we

Mg (Z, +) & WE & IR A o
f:@Z,+) > E +),{x)=2x, Vxe ZaXN
Ry &, @ v £8 -

(1) GHIHINGT &

(2) sTeBTR® FHHIRGT

(3) Uha wHIHIRGT

@ 7 9 oI5 T/

(5) sigaRRa U ‘

42. AABC, APQR & §9 UBK WiST & f. AABC
3R APQR & uRuWm™ w36 /AL 3R
249#). &1 IR PQ=109. &, 9l AB=

(1) 15 cm (2) 10 cm (1) 15 4. () 10 |A
(3) 18 cm @) 12cm (3) 18 | (® 12 |4
(5) Question not atfempted (5) argaRa WA
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43. In a given AABC, DEIBC and
I AC =5.6 cm, then AE is -

43. 33 T AABC ¥ DEIBC aiR A‘;

2 aR

—

AC=569%, o AE & -

C
(1) 2.0 cm (2) 3.0 cm (1 2.094: (2) 3.0 9.
(3) 2.8cm (4) 2.1 cm (3) 2.8 /L. @) 2.1 9.
(5) Question not attempted (5} s e
M. 1 y0) =3, y(1)=10,y(2) =18, y(3) =30and 4 AR y(0) =3, y(1) = 10, y(2) = 18, y(3) = 30 TN
y(4) = 50, then the value of A* y(0)is - - y(@) =50 81, T A* y(0) &T 919 & —
) (2 1 (1) 2 21
30 (4) -1 30 @ -1
{5) Question not attempted (8) ST e
45. If a particle moves in a straight line such thatits 45 If S 7 & AR W # W ISR M
displacement x, from a point on the line at time AT &, & 99 ¢ R, Y@ W & 95 9
“t*, is given by x = ¢ — 6t2 — 15t, then the time SHPT FIReITIT x = 13 — 612 — 15t B, df 98 999
interval (in sec) during which the velocity 1is 3iaRIeT (s ¥) foras SRM I Feonead iR
negative and the acceleration is positive, is - TR TS BRI, & —
Mo<t<2 (@2 2<t<5 MOo<t<?2 @2<t<5
B 5<t<7 @Mt>7 @) S5<t<? @ t>7
(5) Question not attempted () aFf<IRa U=
46. 'I'hg solutlgn of the differential equation 46 orgme FEHIOT Xz d’y L+ 3x dy Lty = 0 FT B
x% y+3x y+y Ois- 8 _
. _
(1) y= (Cl + sz)e 2 Y= (C1 + c; logeX); 1) y= (Cl 4+ sz)ex (@) y= (C1 + Czlogex)i'
(3) y= (C1 + ¢3X) IOgeX @) y = (c; + czx)e (3) y= (c; + ¢3X) IOgeX (4)y =(c, + CZX)CZX
(5) Question not attempted (5) aeRa e
47. An arc of a circle is of length 5% cm and the 47 T& 907 & % 9 & oraig Sx 9L © 3R
sector it bounds has an area of 207 cm® The e PBougre 4 98 fiRT 8 SUST a9%a
radius of the circle is - 20n 9 {A B g B Bow g -
(1) 16 cm (@ 4 cm (1) 16 A (2) 4 NA
(3) 8 cm @5 cm @ 8 ¥ @ e
(5) Question not attempted (5) raRa W
B I f(m)=4x +y+i(x+ 4y), where z=x +iy, 48 af€ fz)=4x +y+1i (-x + 4y), Wel z=x+1y,
]
x,yeR, i=v-1, then = x,yeR,i:ﬂ,?ﬁ%:
Z
(1) 4 +i (2)4—1 (1) 4+i (2) 4-i
3 1+4i @ 1-4 (B)1+4i @) 1-4i
(5) Question not attempted () ST U
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fg' 'sin12° sind8° is equal to--

V5 -1 V5~1
s @~

VE+1 VE+1

3 5 (4)—4—

(5) Question not attempted

50. Let A and B be two squaré matrices of the same
order. If A-and'B are symmetric matrices, then

which of the following is a skew-symmetric

matrix?
(1) AB + BA (2)5(A +B)
(3) AB —BA (4) 3.(A - B)
(5) Question not attempted
51. 51

The resultant of two forces P and Q acting at a
point, is of the magnitude R. If P and Q are equal.
and angle between them is o, then R-=

(1) Pcos o ) P cos (.;'f)

(3) 2P cos (-;-) @ :215 cos o

(5) Question not attempted
52. A particle is projected with a velocity u so that.
its range on horizontal plane is twice the greatest
height attained, then the range is (Where ‘g’ is

the constant acceleration due to gravity) -
£
(1) 2u2
uZ
3) P
(5) Question not attempted

441 iS
22 x57'x 72 I

53. Decimal expansion of the number

(1) Non-terminating recurring

(2) Terminating

@) Non-terminating non-recurring

(4) None of these

(5) Question not attempted .
54. A group contains elements a and b such that
O(@a) = 4, O(b) =2 and a’b = ba, then O(ab) is
(where, O(x) = order of x) -

A
M3 @) 4 ;‘_}3 )3 @) 4
@1 42 = (31 4) 2
(5) Question not attempted (8) IR 9=

49,

50. HMT A 3R B ¥HM $Ifc $ JI O AGE B |

52.

53.

54.

sin12° sind8° &R & —

V5-1 V5-1 t
(== 2=
ORERE CR
(5) sraiRa ueA

a2 A sik BomfasegE €, o PrefoReaa o
Y BT fqyH-aatia SegE 87

(1) AB + BA (2) 5(A + B) .-
(3) AB — BA (4) 3(A — B)..
(5) argiRer yeA

-5 fg ® @@ &1 T9 PaR Q % ool

& 9RAPT R §1 I PR Q TR & SR
STH 9 FT T o B, W R=

(M Pcosa (2) P cos (%)
4 2P cos 0.

(3) 2P cos (g)
(5) STgxIRG weA
TF P9 DI ou 9T F gEhT Har wr Rred
TG Siftrel HTd T W, S96] 189 S
T ST B, W W B (@8 g, IR
T @RI §) —

1) 5z @%
u? 20
O @3
(5) 3RS W | |
. 441
AN ———— P TIHd TR g -
(1) 3rie ST
(2) =ia
(3) SRl ST
() =79 | IS T8
(5). sFf<IRa W

Qﬂiﬂ&g%a‘ramaambsﬁw%%'
O(a) = 4, O(b) =2 T a’b = ba, 79 O(ab) &
(G1E, O(x) =x B! BIC B) —

55-@
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56. A line passes through point (2, 2) and is
perpendicular to the line 3x — y = 2. Its intercept

On y-axis is -
M3 @3
(38 ' (4) 2

S
(8) Question not -éttempted

56. A, square and an equilateral triangle have equal
perimeters. If length of the diagonal of the square
is 12v/Z cm, then area of the triangle is -
(1) 483 sq. cm (2} 64v/3 sq. cm
(3) 24v2 sq. cm 4) 2443 sq.cm
{5) Question not attempted

57. For what value of the angle between the vectors
2 and b, the quantity |3.B|+ [3x D
maximum? (Where |a], |b] >0)
1) 30° (2) 45°
(3) 60° @ e
{5) Question not attempted

58. Box I contains 2 white and 3 red balls and

Box II contains 4 white and 5 red balls, One ball

is drawn at random from one of the boxes and is
found to be red, then the probability that it*was
from Box I is -
25 o 21
N5 @3
@ G
(5) Questlon riot attempted .
59.. The mtercept on the line y = x by the circle

x% +y% — 2x =0 is AB. Equatlon of circle with -

AB as diameteris -
Mx?4+y’—x-y=0
@ x*+y*-x+y=0

5. g x@r g (2,2) ¥ ToRdT B qun el
3x—y=2 B oFEdq ¥ THH y - W W
ITETE 7 —

3 @3
38 @)=

3
(8) grefeilRar s

86. 7 97l AR TP wHATg S BT URHY SRR
g1 afe ot & Ree # a=E 1292 9. 9,

o B o1 dawer & —

(M 48v3 oof 98t (@ 64v3 oo A&
@) 24vZf 9 @ 24v3 = A
(5) IR ¥

5. gitw 3 ok wRw b & 4 w1 @ fbw =@M

& fo, i [3.5)+ [d x b| sftmam &RfR?

(%=t al, [b] >0)

(1) 30° 2) 45°
(3) 60° {4) 0°
(5) Jrg=IRa g

58. gy 19 2 9% &R 3 A € oiN dfe I
J4udg iR Soad WS €1 g9 9 f-fl vov
diT ¥ TP I IgRed HU-Y el orl 2

, 3R 98 wre O ORh ], o 59 9 A ¥ 1
BN @1 WIReaT § —

OE @
@ @
(5) argaRa g

59. 77 x2 4y —2x =0 NI I y=x T TS
AB T| g, STt 2 AB &), w1 aHieRo
.

M2y’ —x-y=0
@ x2+yt—x+y=0

@) x®+y?2-3x-3y+4=0 B x*+y?-3x~3y+4=0

@ x4y —x=0 @) x2+y*—x=0

{5) Question not attempted (8) argaiRa we

60. If PP, = 720™C,, then ris equal to - 60. gfa "p. = 720"C, &, O r WX & —

M4 (2 8 ()4 2 8

36 @ s (36 @5

{5) Question not attémpted (5) iR U
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61.. The semi-vertical angle of a right circular cone 6% IfX TF TR oig & ! OFH TR TH
admitting set of three mutually perpendicular 2l df Saer erl—3Y S § —
- generators 18 - :
ﬁl) tan’ 1 @ tan! /3 () tan 1 @ tan’! V§
®) tan! VZ () tarr 2 ® tan’! V2 ) tan”' 2
{5) Question not attempted (5) ARG T
62. The angles of depression of the top and foot of a 62 Y& h Sai¥ Bt Terdl @ MY ¥ & AR &
tower from the top of a hill of height h are o Ud UIT B I P07 HA: 30° T 60°
30° and 60° respectively, then the height of the ¥ g AR @) oS & — '
tower is - n » oh
e @ M3 @3
@b L @ h @3
(5) Question not attempted (5) IrgaRa e
63. If the system of equations - 63. 7Y Tl Fe —
x+y-z=0 X+y-z=0
3x-ay—3z=0 3x—ay—-3z=0
x-3y+z=0 x—3y+z=0
has non - zero solution, then o = | T S B fdeEE B, AT oL =
(-3 (2 3 (-3 23 ‘
@ -1 @ _2? -1 (4) _?9
(5) Question not attempted (5) Srgaie u=
64. For the group (Z, *), where Z is the set of all  64- THg (Z, *) @ ford, 8t Z el quiiepl &1 Hﬂﬁm
integers and * is defined by : a*tb=a +b + 1, g &Rk * fafofea g oRwiva @
'V a,b e Z, then the inverse of a € Z is - a*tb=a+b+1,Vabe Z 79 ac Z&I ;ri‘?lah
(1)2+a @2-a & -
(3)-2+a  @®-2-a (12+a @2-a
(5) Question not attempted @)-2+a @-2-a
‘ () Irf<ilRa uzA
65. 1f vector A is such that VXA =0, then Ais 9 aR wRw & 59 WoR 2 VXK 0, o
called - | A FEanT § —
(1) Irrotational vector (2} Solenoidal vector (1) s wfew (2) aRefes wRw
(3) Rotational vector  {4) None of these (3) goig afew @) =79 3§ P8 =
(5) Question not attempted (5) argiRa we
66. The nature of roots of the equation 66 gfieRTT x2 —2V3x +3=0D Toll B v
X2 —2v3x +3=0is- ¥ - |
(1) Ymaginary (1) Swregf~s
~ (2) Rational and equal (2) gRAT T
(3) Irrational and different (3) ¥y Torr =T
(4) Trational and equal (4) 3uRF oI T
{5) Question not attempted (5) Sr=ilka ue
55 < ] Page 12 of 32

§




- o 123456789 ) 123456789 ..
B?-Forthepermutatlonp—(234516798) - 67. H9F p-—(-234_5 16 798) ™ forg
the number of transpositions are - BTN ] e 8 —
(1ns 22 ms (2 2
(3) 3 C @) 4 &3 4 4
(5) Question not attempted (8) SrgaRa W
68. The length of the sub-normal to the curve 68 % y?=x> fag (4, 8) W axlia & orvare
y* =x" at the point (4, 8) is - &
(1) 24 ' (2)% (1) 24 (2)§ .
( 3)§ - (4) None of these (3)_3_ )] %T-rﬁ[ q @i 8l
(5) Question not attempted ‘ RO GGG RS
69. The straight lines 3x — 4y + 4 = 0 and 69 &var Y@t 3x—4y+4=0 3R 6x—8y +13=0
6x — 8y + 13 =0 are two tangent lines to the same TP B g Bl &l wuel &) § g B B
circle. The radius of the circle is - g -
M3 @3 s (13 @;
@2 ({;)g : (3)2 @3
: 2
(5) Question not attempted (8) srpailRa ued
70. | e:x(: 1)? dx is equal to - 70. [ ‘%?dx W & —
X
(1) +1)2+c @==—+c (1)(x+1)2+c x+1
(3 )(x+1)2+c (4)(x 1)2+c ()(x+1)z+c (4)(x 1)2+c
(5) Question not attempted _ (8) argaRer e
71. Centre of the conic x* — xy — y 6x+3y+5 0 7. 9igg x>—xy-y?—6x+3y+5=0 B g
A 15 - % —
M3-1n @ @3,3) - M @3,-1) 2) (3,3)
3 (3,0 @) (-1,3) (3) (3,0) . @ (- 1,3)
(5} Question not attempted 8) saRa we”
72. The solution of the difference equation 72 IR THIBOT U3 — 2Un+2 — SUnsi + 6 = 0 HT
Unt3 — 22 — Sne1 o+ Git = 0 s - . B %&‘r — .
1) va=c1(1)" + c2(2)" + c3(3)° ) ma= (1 + 2P + s3)° ’
(@)un = c1(-1)"  c2(-2)" + c3(-3)" (@) up = c1(-1)" + ca(-2)" + c3(-3)°
() up = c1(-1)" + c2(-2)" + c3(3) " (3) ta=c1(-1)" + Co(2)" + c3(3)° u
@) un=c1(1)" + c2(-2)" + c3(3)" (4) uy = c1(1)" + c2(-2)" + ca(3)"
(5) Question not attempted (5) 3rgaka ye
73. Which of the following statement is not true? 3. fF=folaa oo § @ B oG 27
(1) Every subgroup of cyclic group is cychc. (1) aaﬁ'q TE T TAD SURIE AH1T BT & |
(2) Every Abelian group is cyclic. @) 7T el THE T BT B
(3) Non-cyclic group may have cyclic subgroup. (3) BT T BT Th1d SUHHE B GhdaT 5|
(4) Every cyclic group is an Abelian. @ TS P g el Bl B
) Quéstion not-attempted (5) (ﬂﬂﬁﬁﬂ PEG
s5.¢° - | - Pagel30f32 '




74.

If 4,b and € are unit coplanar vectors, then the

value of Scalar Triple Product
[25-‘5 2b-¢ Z‘é-ﬁ] is equal to - |

(M1 {2) 0

3 -3 @ .3

(5) Question not attempted

74.

Hﬁabaﬂ?cwémﬂsﬂuﬂﬁmsﬁ |

M1 @0
©) —v3, @3
(5) oG U=

7S. For ‘two evenis A and B, it is given that 75 <y geEi Ak B & fw, P(A) = P(é)= 1
. ., P =
=p(A\=1 By\-1 -
P(A) =P (5)=; and P ()=, then  aiep (D)=L dr—
(P ( )does not exist . % Mp ( ) e ) 2
(2) A and B are dependent events . 2 A &R B &3 Tea| §
g (AY 3 ) o
@P (5) =3 @p (@) =2
(4) None of these 4 57 @ o =
(5) Question not attempted (6) reiRa wee
76. y_ 3T 7C. is equal to - 76. yn_3r 00, @ R T —
(1) 3" @1 3= ()1
(3) 4~ 4 2» (3) 4~ @ 2"
(5) Question not attempted (5) sr=IRT we
7.1 the value of the determinant 1+a .1 1
1+a 1 1 77. O WRP& #1979 | 1 1+b 1 [=0
1 1+b 1 |=0andabc=-3,then , T 1 1+d
1 1 1+4c ﬁﬁﬂTabc=—3‘,ﬂ‘rab+‘bc+caiﬁrﬂﬁ'§—
the value of ab + bc + ca is - (1) -3 23
1) 2
o
&) LS
(5) Question not attempted A
78. If the eqifation Px? - 10xy + 1252+ 5x — 16y —3 =0 78 TS FHIBYIT Px2 - 10xy + 12y? + 5x — 16y~ 3=0 TP
represents a pair of lines, then the value of P' g W o efia sl 8, af P P 9
is - T '
M3 @2 (3 @ 2 :
@1 -2 @ 1 @ -2
(5) Question not attempted ) aﬂﬁﬁa y9q
79. The maximum value of 5cos6 + 3cos (9 + g) +3  79. 5cosB + 3cos (9 + g) +3 &1 A59H 919 & —
i:)' o (17 (2).10
7 10
3 4
@38 @ 11 ©3 @
(5) Question not attempted (5) argaie wed
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80. If a; is demand units and'b; are available units in ~ 80- I v uRae~ Gawar ¥ a; AT SHET § e
a transportation problem, then the condition of b; SUTRT SHIRAl &, 99 Fjferd URasT |aw e
balanced transportation problem is - B B fog e & - '

(1) Zai + ij = 0 (2) Zai + Ebj = 1 (1) _Zai +2b_| = (2) zai + zbj =1
(3) Ja; # Tb; (4) Yai- 3b=0 - {3) Y = 3y 4) Jai~b=0
(5) Question-not attempted (5) oraRa uew

81. The  eccentricity of the  ellipse 81 <egT 25x% + 16y ~ 150x - 175 0 M

25x% + 16y — 150x — 175 =0 is - Ihwdl § —

OF @3 UE @%

@3 @3 33 OF

(5) Question not attempted (5) SrgmiRa WA

82. The length of perpendicular from point (1,2, 3) 82, ¥y ¥=6 = ¥=7 LRI (1,2,3) S =@

3 2

tothelinex;6=y;7.= _—27isequa1to- @maﬁw;{w%—

™3  @VE o ()3 @ v&6

(@) 7 @5 % ()7 a5

(5) Question not attempted » (5) sgaiRa geA

83. A line is passing through the points (1,2, - 1) 83 7% @1 Rvgall (1,2, ~1) &R (3,-1,2) @
and (3, — 1, 2). At which point,does it meet the oGl 8 | 98 ﬁv_ﬂ g W yz- wiaa 9 e
yz - plane? . 77

3 1 -5 13 1 =5
(0, 3. %) @(0, ?) (0. 3. 3) @3 3)
7 5 72 7.5 73
©) (0‘ 2’ ?)' (4)( 2’ 2) (3)( Y 2) (4)( 2’ 2)
(5) Question not attempted | (5) 3rgeie wee

84. ot OA=1+3j— 2k and OB=3i+j—2k. & 7 - @forg OA=i+3j—28 . @R

If yectbrf);f)'bi'sects ZAOB, where C is a point OB = 3i+i* 2k, Iﬂ%‘r SIER 66' ZAOB 1
— Rk IERIGE GG g}
on the line AB, then vector OC = ﬁﬁ s __%: Wl C, Y61 AB ™ @
‘ o A " i:"aﬁl 0C = .
M 4(i+j+k) @2(1+7-k) S s o . s o
A Ma(i+]+k) @2(1+7-k)
(3?1+]+k (4) None of these (147 +k ) 5 @ T S
(5) Question not attempted (5) 3FaRa e '
N R . w 1 :

85. The series ZFOM is divergent, if - 85. Siof} Z“=°(n_+f)"5 IR & Y -
Mp>1 @p<i Mp>1 (@ p<i1
() 2<p<3 {4) None of these (B 2<p<3 @) T 9% T8
(5) Question not attempted (5) argaia T
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.86. A paper is in the form of a rectangle ABCD in
which AB = 20 cm and BC = 14 cm. A semi-
circular portion with BC as diameter is cut off.

The area of the remaining part of the paper is -

(=2
Ty

(1) 302 sq. cm (2) 213 sq. cm
(3) 280 sq. cm {4) 203-sq. cm
(5) Question not attempted
87. In the given figure, if ABIICD, then the value of

Xis—
A —— B
108’
E X
> J12 > -
(1) 140° (3) 68°
(3) 720 ® 100°

(5) Question not attempted

88. Argument of the complex number (%;—:), where

== —Tis-

86. T HITY, @STMHABCDEFWWA%
forad AB =209 3R BC=1497 8| 59
SIS ¥ BC 2T d1ell Teb TGl 91T Hiet

wu_cui%l BTTST P Y YT BT &P & —

(x-3)

(2) 213 oot AL

(1) 302 99 AL
(3) 280 97 AL (4) 203 Tt Q.
(8) srpaa e I

87. 23 " Rz ¥ IR ABICD &, 31 x &1 99
8

A i r : B
108°
E X
| S 12 5
(1) 140° (2) 68°
(3) 72° (4) 100°
(8) argiiRa weH

ga. Hﬁmﬁw(i—;i)mmﬁ,',ﬁﬁi:ﬁ
. =

OE: @5 M @5
@5 @5 @)y @5
(5) Question not attempted (6) ARG U
89.1n a regular hexagon ABCDEF, 8% vs fwffi@ weq&l  ABCDEF
(AB + AC + AD + AE + AF) is equal to - (AB+AC+AD + AE + AF ) S9I%% & —
(1) 33D () 4AD (1 33D @ 43D
35 @) 2AD @73 4 2AD
(5) Question not attempted (8) Ir<IRT U
90. If lim [Ioge(s-i-x)—loge(s-x)] —k then the o90. ofx Hm [loge(3+x)—loge(3—;x)‘] —k Esf, a1 k B
x-0 X x=0 X o
value of k is - HH 8-
1 2
(-3 )3 VEE @3
@0 _z 3 z
@) -3 )0 @-=
(5) Question not attempted (5) 3]§ﬂﬁﬂ‘ o
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91. The sum of length, breadth and depth of a cuboid ~ 91- T& =AM T g, e N TERE T ARl
is 19, cm and the length of its diagonal is 11 cm. 1994 2 ok s9o Ret @ =R 11 9
The total surface area of the cuboid is - 21 T 1 el USSR e 8 —

(1) 121 cm® (2) 240 cm® 1) 121 = |4 (2) 240 1 |AL.
(3) 120 cn? (@ 361 cm® (3) 120 F QAL (@) 361 T FA,
(5) Question not attempted (5) (ﬂ‘:ﬁﬁﬁ g

92. Jf the function u(x, y) = €* cos y is harmonic, then 92 If& BT u(x, y) = cos y THAT 2, < gl
its harmonic conjugate v (x, y) is - T FEaE v (%, y) B —
Me'sinx+c. (@) -e*cosy+c M e’sinx+c (2) -e*cosy+c¢
{3) e*siny +c (@) e'cosx+c (B e*siny+c - (4 e'cosx+c
(5) Question not attempted (8 srgaRa

1 2 3 4 & 1.2 3 4

93. The value of 21.28, 216. 232, ............ is-UEF B 93. 22.28.2%6. 2% ............ HTAM B —
M o (22 (1) (2)2
31 (4)% 31 (4).2.

(5) Question not attempted (5) SrgeiRa ueH

94. I the given figure, fAB=8cmand PE=3cm, 9 &% & forg # 3R AB = 8 €A 3R
then AE = PE=3 U €, @ AE=
(1) 5cm (2) 3¢m (1) 594 (2) 374
(3) 7 em @ 11 cm @) 734 (@) 11 94
(5) Question no.t atterpted (5) eﬁqﬁﬁ U

95. The volume of the solid generated by the 95- FEamT (HIS3TES) r=1+ cos O B URME ¥a
revolution of the cardioid r= 1 + cos @ about the 3 9T URHHeT ¥ ST o1 T enIaT § —
initial line is - - : o N
(1) z?n @) B?n < (2)-; _

@) 2n | (4)4?“ 3 27 (4)4;"'Tt
(5) Question not attempted (5) IgaRT oo
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A solid righit circular cone is of height 8.4 cm and

waﬁﬂmﬁuwaﬁm 8.4 9. T wen

96. 96.
the radius of its base is 2.1 cm. It is melted and TP AR ?ﬁr.ﬁa:rr 2.194. €1 39 feerex
recast into a solid sphere. The radius of the TF S el BT ABR ;T 7| 36 My
spﬁere is - Foran % B
(1) 4.2 cm (2) 84 cm o !5 (‘.l) 429, @ 8.4 9
@) 21 o ) 3.1.cm : & (3) 2.1 94, (4) 3.1 9.
() Question not attempted - 8) Al T
97. If o and P are roots of equation x2 + x + 1=0, 97 af¥ o 3R BEIIRT 2+ x + 1 =0 TeT &,
. then the equation whose roots are o and B?, is - < 98 wHiERe, s qo of qur BET 2 —
Mx*-x-1=0 @ +x+1=0 (M x2-x-1=0 @ x*+x+1=0
@) x2+x-1=0 @ x*-x+1=0 @ x2+x-1=0 @ x*—x+1=0
(5) Question not attempted (5) aaRa ge
98. For given value of x, the correéimnding valuesof 98 x & Ty 717 AF & WG f(x) D 99 F =T TR
f(x) are given in the following table as — CREER g -
x | ofos]1 x 1 0105]1
i | 1 [oa o5 fix) | 1 | 08 |05
:
Using Trapezc;idal_ Rule, the value’of fol.f(x)dx sudiigse g &1 SwET aRa g, f f(x)dx
is - ) WA B —
(1) 0.575 @ 0.155 (1) 0.575 @) 0.155
3 0.115 (4 0.775 @ 0115 @ 0.775
(5) Question not attempted (5) ITFART =
—a? ab ac —a2 ab ac
- 99. If determinant | gh = —h? be|=ka’b%?,  99. T WRARS | b —b? be| = ka?b%e?,
ac bc  —c? ac bc —c?l :
then the value of kis - T8 kP A § —
Mz @ —4 M2 (2) —4
3 4 @ -2 () 4 4) -2
(8) Question not attempted (5) arie oo
100. Let F(x) = [ snﬁ;x dF(O) 0, if 100, 7 F(x) = fsmi“‘::; - dx &R FQO) = 0, af
F(§)=?thenk= F(5) =2 drk=
OF 22 Dz (22
@ @3 @2 @~
5 Queg_ti‘on not attempted (5) srgaiRe U
55-8@ . Page 18 of 32
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101. The domain of the funétic;ih f(x) =fin=[}(}£

(where [x] is greatest integer function) is -
(1) Real numbers @ R-Z

(3) Integers 4).Ro s
{5) Question not attempted

2
102. If 9*+2 = 72(? + 9%, then the value of (3;-)" is -
1, 1
m3 @3
3 1 @) i .

(5) Question not attempted

103. The value of the integral f dx is -
1) — d
(1 -1 @5+1
(3) E -1 (4) 1

(5) Question not attempted
104.1F (21 + 6]+ 27) x (i + af+ bK) is a null

X-

101.W f(x) J—T (G'IET [X]HE?IT[ IIUT']'EF el

BB U T —

() g 4= @ R-Z
(3) gurie @) Ro
(5) Srgaia e '

2
102. T 9¥2=730 + O, a0 (2)"?51 I & —

(W3 @3
@1 @2
4
(5) ar:mﬁﬁ RS
103. THIG f — “dx FTAE T —
1) -1 @5+1
(3)%—- 1 4 1
(6) SRR ¥

10432 (21 + 6] + 27k) x (1 + aj+bk) & ¥

vector, then 2a + 4b = ,L‘ giesr g1 O 2a+4b=
(1) 36 (2) 54 . - (M36 (2) 54
(3) 60 4 33 & 3 60. 4) 33
(5) Question not atfempted C) Gﬂﬁﬁﬁ g
105. Consider the following statements — 105. fepmiforRee weri W AR SIfvg —
() Every real number is either rational or, O TIS dEe e Aql a1 ¥ @
irrational. o B 2

(ID = is an irrational number.

(I nwmﬁﬁaﬂ@?%l

ey 5% will terminate after four places of am 24 : 53 S 2!\7 S
e statements 1ven ove are
Comc;ﬁo e a0 #§ ¥ PR P WE B7
(1) All (I), (IF) and {TIT) (2) (1) and (IIIy only ) @, (H}-’Sﬁ? (o) Y (2) Baet (D) &i ()
(@) ()and (Monly @ (II) and (TI) only ®) W O @ Fa (WD AR (M)
(5) Question not attempied | _ (8) STRIINTT T
55-% Page19 of 32
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106.

107.

108.

109.

110.

- 106

[O ¢ =b ,
For the matricesP=|—c 0 aland
' b -a 0

‘a®  ab ac] _

Q=]ab b? bc| consider the following
ac bc c?

statements —

D PQ is a null matrix.

(II) QPisan %dentity matrix of order 3.

() PQ=QP

Which of the above statement/s is/are correct?
(1) (ID) only (2) () and (110)

(3} (1) and (IIT) 4 (D only

(5) Question not attempted

b

Let o be the angle between two unit vectors
dand b. If F+ 2b and 53 —4b are mutuaily
perpendicular, then the value of sino + sin20tis,
(wWhere 0° <a®<90°) -

1) \/_ 3+1 2 3

(3)5 @0

(8) Question not attempted

On changing the order of integration of double
integral fow S “ dxdy -
M " fy‘” dydx @ [ [* dydx
@) f [y dydx @[5y dydx
(5) Question not attempted ,
cot?(sec™'2) + tan? (cosec™'3) is equal to -
11 1
U by @5
1 7
3) 2 O by
(5) Question not attempted

The equation of the sphere through the circle
xX*+y*+22=9; 2x + 3y + 4z = 5 and the origin is-
(M 5%+ y*+2) +9(2x + 3y +42) =0

(2) 52+ y?+ 25— 9(2x + 3y +42) =0

() 9x2+y*+ 2% + 52x + 3y + 4z) =0

@) 9x*+y2+2%) -~ 5(2x + 3y + 4z =0

(8) Question not attempted B

107.

108.

109.

110.

0 ¢ . —b]
-‘GﬂqﬁP=[—c "0 a]aﬂ?
L'b —-a 0

a2 ab ac .
Q={ab b? bc|® Rm FFafaReq e |
ac bc 2

R foar $ifvm —

(D PQTH I I &1
() QP BIfe 3% & T D MY 2|

() PQ=Qp

SR ¥ PIT /P B w9l & /¥
(1) &det (D) (2) (1) R (1)

(3) (m 3 () (4) Daar ()

(5) SRIRT oA

A IR 6 <) s wfexit daikb P 9=
BT o T AT 53-4b 3R F+2b wWER
dEaq 8, O sino + sin2e B WA P,
(G181 0° < a° < 90°) —

(1) 3L v‘+1 23
(3) = @0
(5} arg=ivG T

@ﬂwafofdxdya%waa—amaﬁ
IS X WIS Bl & —

O fy dydx @ [ [ dydx

@) 7 [ dydx @ 7 [ dydx

(5) ST wee ,

cot’(sec™12) + tanz(cosec‘IS) |RETE —

(1)5 (2)= E !

@, @

(5) SR wed

A 975 0 997 x2+ y? 4+ 22=9;2x + 3y + 42=5
9 EIP] WM dret el Pl AR & —

(1) 5%+ y*+ 29 + 9@2x + 3y + 42) =0
(@) 5x*+y*+2%) - 92x + 3y +42) = 0
(3) 9%+ y*+ 22 + 5(2x + 3y + 42) = 0
@ 92+ y*+7%) - 5(2x + 3y + 4z 0

(5). eI W ;

55 -
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111. Two finite sets A and B have m and n elements
respectively. If the total number of subsets of the
first set 'A' is 12 more than the total number of

subsets of the second set ‘B’, then (m, n) is equal

to -
(1) 4,2) @ (3,6)
3 (6,3) @ (2,4)

(5) Question not attempted

112. The equation of the right circular cylinder,

whose axis is Z-axis and radius is 3 units, is -

(1) y*+22=9 (2) 2+x2=9
(3) x>+ y?=9 D@ 2y et=9
(5) Question not attempted
. _(x*+3x+ax<1 .
113.If function f(x) = { bx+2 x>1 is

i

a and b are respectively -

(1) 3and5 (2) 3and 2
3 2and3 (4) 5 and 3
(5) Question not attempted

114. The oblique asymptote of y = XTZ_-——E is -
My=x-1 (@ y=x+2
B y=x-2 @y=x+1

(5) Question not attempted
115.§f 1,  and @? are cube roots of unity, then
(3 + 50 ¥ 30 + 3+ 30 + 50 =
(M4 (@ -1
@ —4 @o
(8) Question not attemipted
116. 11 the interval [0, 57], the number of solutions of

the equation, 3sin®x —7sinx +2=0,is -

differentiable for all real x, th_eh the values of .
W & w9 o € -

111. 3y oRfe 5=l A o) B # 99 m el o
yqgg g1 afd vew wgmE A" B qA
STEgRT B T, g g B g
Sl @ €Em ¥ 12 A 8, 99 (m, n)
WA & —

M 4,2 (2) (3, 6)
(3) (6,3) @) (2,4)
(8) srgala we

M2 grgqeilg JoM B §Hioxol,  foraer @
z—3iE B 7o B3 3 5% 8, BN —

s M y?+22=9 (2 22+x*>=9

(3 x2+y*=9 @) +y?+22=9
(5) srgaRa W
: _(x®+3x+a,x<1
113. Tf€ B £(x) ,,..{ bxt2 x> 1 x® T

qraAfad qFl B T saeag B, dl a 3R b

(2) 33iR 2

(1) 33R5
(3) 23R 3 4) 53R 3
(5) srgaRa WA

114.y= ’i—'—fzﬁrﬁﬂﬁeﬁﬁmﬁ g -
My=x-1 @y=x+2
@) y=x-2 @y=x+1
(8) 3r<IRT e

Mhafk 1, 0 IR o TR F TS G @
(3 + 50 + 3092+ (3 + 30 + Sa?) =

(1) 4 (2) -1
3)-—4 @0
(8) sr<Ier 9

116. 3R1e j0, 5] H FHNHIOT 3sin’x — Tsinx +2=0
D TAl DI e BRI —

Me (5 Me (5

(3} 1 @ 10 @1 '(4) 10

(5) Question not attempted - (?)- Wﬁﬁ LAY
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117 The value of x for.which the angle between 117y 7 A, Rads forw |fdsr § = 2x2 + 4+ &

d=2x+4xJ+k and b =71-2+xk is
dbtuse,is—

Mx e(ﬂ, 3
(2) x-€ ( %, 15)
e m0u. )]

(4) None of these
(5) Question not attémpted

dRb =7 - 2f+xk 3 &= aifE P 2,
AT — .

8. ien coins aré tossed together, then the M8 AR T RITD T I SBRI UM E A BT

119.

120,

probability of getting at least 7 heads is equal to-

76. " 175

M 1532 O
‘166 176
(3) 1024 ' ® oz

(5) Question not attempted

Two dice are thrown. What is the probability that ~ 119. S}-Ui} BT BT ST & | BodT W 9T el

the sum of the numbers on thé faces is neither 5

nor 77 : L
4 13 5 o
M3 @z - ﬁ%
.1 o 7
® 3 @5
(8) Question not attempted
kcosx T
A ; X#F2
If function f(x) = {T~2X 2

is continuous at point X =v§, then value of k is -
(19 @6

(33 4 12

(8) Question not attémpted

mxe(o,)
: (2)xe(-§,15)
@xe [(-o0,0)u (5, )|
(8 57 @ B T -
(8) srgeieer o
A 7 ToRT 3 B wildiear sRER & —
76 175
O (@)
: 166 176
B o , @
(5) argeriRar wee
HT AT T A 53R T & 789 B wiliwar au
27
Ok (2=
(35 @ %
(8) ergeiRa wee '
kcosx X#E
120. % e f(x) = {2 2
’ 3 ; x=_2-‘
g x=7 o waa & Ak o1 9m & -
mo 26
®3 @ 12
(5) argalRa we

121.AB is a line segment and line ‘L’ is its 121 AB T Ywravs § &o G L, SHPT o
perpendicular bisector. If a point P lies on ‘L, Talgaes 21 R @ g P Y L w E),
then which of the following is true?. e B w2
(1) PA=PB @ PA<PB - (1) PA=PB (2 PA<PB
(3) PA >PB {4) None of these (3) PA>PB @) 7 4§ o1 7E
(5) Question not atternpted (8) SRR wem

55-% _ Page 22 of 32
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122. Jy the given figure, ‘O’ is'the centre and AD is 122 T R #, ‘O’ IO &7 % 3R AD =™
,dlai_n‘eter of the circle. If ZDAB = 50° then 21 af /DAB=50°2, qr x +y=
x+y=
(1) 220° (2) 230° x (1) 220° (2 230°
3) 200° (4) 180° 2 (3)200° 4 180°
(5) Question not attempted (5) srgaiRa 7T
123.If x% +y? =m+'13Il and x*+y*=m?+ # , 123,91 x*+yl=m+ é ql x*+yt=m?+ #
then tfle,_value of S—E is - 8, 9 % HTAME —
~1 -
Qe (2) xzy U Je () = xzy
~1 o 1 -1
) @)z ) R @z (@ x3y
"(5) Question not attempted (5) FrgiReT ge
124.T; the usual notations, for the conformal 124- WMWY Waaal H, SHIT HURRY (FRIRE)
transformation w =, 7%, the ‘angle’ of rotation at w=22® 1%1'? z=1+iT goiF BT & —
z=1%iis- - .
Ok @2 s @e
(3) X, (4) - - . (3) 2 4 3
(5) Questlon ot attempted (5) sriRa ued
125. I e probablhty that a man'will live 10 more  125-9fY T o & 10 9§ e Sy € A
years; is>; X and the probability that his wife will TR i g IR SHB el B 10 95 ifSE
live '_10:morety.ears,‘is% , then the probability that Sifad 89 B Uifdedr % £ ar109d 95 9
none .of them will be alive after 10-years, is - ¥ T5dr & ) Siifag 1 w89 & wifdiesar & —
GE @5 : ’
u 1 11
(3)5 (4) 12 (3) 'E (4) 1—2
. (8) Question not attempted (5) STIRe we T -
126.1f function f(x) = loge(x + V1 +%3), 126. g% BT f(x) = loge(x + V1 +x2),
-one - gne and onto function, then ! (x) = Tha—3esed Bed &), af £1(x) =
(=== @ QR @5
oy EX = €7 e +ex eX - eX+eX
BT W r—= @ G W e—e=
. {5)-Question not attempted (5) skl e
55- & ) Page 33 of 32
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127. Directrix of the parabola y? + 4x + 4y — 3 = 0 is-
(1) 11x =4y (@ 4x=11
@) dx =11y @ 4y=11
(5) Question not attempted

2
128.In usual notations, the value of EE—(XB) is,

(whereh=1) -

(1) 2x (2) 6x

(3 3x (4) 4x

(5) Question not attempted

129. Solution of LPP : |
Max z = 3x1+ 4x2
Subject to X1—%25-1
X1+x2<0 - -

and X1, X2=>0

is -
Mx1=2,%x=3
B xi=1,x=2
(5) Question not attempted

130. f the ‘mean of the following distribution is 6,

@ x1=0,%x=1

(4) does not exist

then the value of pis —
X |2 |4 {6 |10 |ptd
f |13 12 |3 |1 2
(138 29
) 14 @7

(5) Question not attempted
131. Which of the following principles is essential for

developing a Mathematics curriculum to ensure

students understand concepts holistically?

(1) Emphasis on rote memorisation.

(2) Focus on interdisciplinary connections.

(3) Avoidance of real-life "application of
mathematical concepts.

(4) Teaching concepts in isolation without
context. ‘

(3) Question not attempted

ol

131.

127

U Y2+ 4x +4y—3=0 B I € —

(1) 1ix =4y (2 4x =11
(3 4x =11y @ dy=11
(8) 3riRe e
128. OFFE Hdad 3, %(}F) FT A9 E,
(8T h=1%8) — .
(1) 2x (2 6x
(3) 3x 4 4x
(5) argaRa wed
129. 3R WIFF AR
RIFTHIGT i=3X1+4X2 _
PIREIRG) X1—X2%5-1
X1 +x=<0
il X1, X220
P EA B —

130.

Mx1=2,x2=3
@) xi=1,x2=2
(5) SRIRT U
afe fr=ifeRaa 9ea &1 7" 6 81, W p BT A9
3

2 x1=0,x2=1
(4 faemme T8 ®

x |2 |46 |10 |p+5
f 131213 |1 2
(1 8 29
(3) 14 47
(5) argailRe o

R & TEE B 39 TER AR 7 D

g, FefoRaa & 9 s Rigia smawe 2,

fored B JERERT BT G W9 ¥ 99

qD? |

(1) e R SR I

(2) 3ia: vy Gdeli W) wOF Bfed ST

(3) 7wl sEuRoNEl & aifdE  ofie
IR | FEAT|

(4) srauRorRl B Wy 9. 91 Ierng ¥ ugEr|

(5) sk W=

55-9
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132.

133.

134.

In the Herbartian lesson plan, which steps
involves the teacher connecting new material to
previous knowledge?

(1) Association (2} Preparation

(3) Generalisation (4) Application
(5) Question not attempted

Which of the following best ciescribes the

importance of audio-visual aids in Mathematics

teaching?

(1) They enhance abstract thinking but limit the
scope of practical understanding.

(2) They focus mainly on theoretical aspects of
mathematics without practical engagement.

(3) They provide concrete experiences and help
in the better retention of mathematical
concepts.

(4) They reduce the need for teacher intervention
by fully automating learning processes.

(5) Question not attempted

Which of the following is a general objective of

teaching Mathematics as per Educational

Psychology?

(1) Students will differentiate between linear and
quadratic functions.

(2) Students will develop logical reasoning skills
applicable in real-life situations.

(3) Students will calculate the area of a circle

using the correct formula.

(4 Students will apply the Pythagoras Theorem

to solve geometric problem.

(5) Question not atternpted

132-3&?%%&@#,%%@1%@

< Rl B g 99 9 i B AR S
{4

(1) 99

(3) TR,

(5) arpeRa weA

() Gy
(4) SFTHERT

133. 7 R ¥ HE-qE EEE SIEH B

57T HeH I wU § B T T 87

(A F WY B 9K § Afe AmeEile
T B A B T F F

(2 3 TR & e vsgsl W = Biea
w¥d B e araeiRe ge@ & |

(Y S ITE USH I o AR IR
srTRoTE ) YR R Hew v

(@) 3 T wfp B O TRE & W e
R 3 ew@E B AETERIT B FH IR
g1

(5) s we

B9 wEifde & ogaR, oM REer @i

g el fefafed § 9 S 87

(1) B Y& ik ffud weml @ 4\ SR
B |

(2) BT qRAfdE wigd o aRReREl § arf
BN 9Tl TIfd a9 ree [ HET |

(3) BT WE! Y B SWNT &R gl BT &bel
R |

(4) BT ST Gl $ 5w @ Y
UISLITTRY T T ST G |

(5) srpaRa e

- 55-
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135. Which of the following are explanation of
logical reasoning in Mathematics?
(a) Following a series of steps to solve a
complex equation.
(b) Arranging data in a table to identify trénds
and patterns.
(¢) Making a guess at the answer to a problem
without employing reasoning.
Choose the correct option -
(1) (a) and (b) (2) Only (a)
(3) (2) and (c) (4) (b) and ©
(5) Question not attempted
136. Which of the 'followiqg isakey feature of
supervised-study method in Mathematics?
(1) Students’
collaboratively in groups.

solve mathematical problém

(2) The teacher provides direct instruction
without any student involvement.

(3) The teacher assigns tasks and leaves the
students to work independently.

(4) The teacher guides and monitors students’
progress during their independent study
sessions. ‘

(5) Question not attempted

137.In evaluating the psychomotor .domain of a

student in Mathematics, which activity would be

most relevant?

(1) Memorising multiplication table.

(2) Drawing' accurate geometric shapes using a
ruler and protractor.

(3) Explaining the concept' of probability
verbally.

(4) Solving a problem using mental calculations
only.

(5) Question not attempted

135%13%@3#%25‘]?#&13#31%@&%
e &7
(1) TP Sifcel TP B A PR B Y
(by wEET SR et A vEEm v B forg
“(©) ﬁmaﬁﬁ%w%wmmﬂ
GUIGIE! )
e fawey g7 —
(1) (a) 3R (b) (2) Fae1(a)
@) @3REe) . @maiRE)
(8) SR T Pl LT
136. 7ifdrq mﬁﬁﬁr GT‘&’TéFf ﬁﬂ%r = T Y5
ﬁﬁwﬁmﬁr@aﬁ@raﬁﬁ%‘?
) o gl § FEareE BU 9 o
TS BT AN B B |
() g {91 5 B wrler) @ e e
TG B B |
(3) R w3 wiver & ok BT B Wy B
-@mmﬁzﬁmmam%n '
(@) Rerw s ST, <. EBH‘]'\’HE'H‘[EF%
wﬁrmmﬁa&haﬁvﬁmﬁﬁaﬂm%"l '
(5)313?rﬁau¥=f D .
137#@13%@6@?%@11?&@35%3@1@@3
1) o SR B AT T
@) F R R ApEY a?r mﬁ W R
wﬁ?ﬁawﬁa’raﬁml
(@) #Res wr J u@w i smwrr ?ﬁt
AT |
(ﬂﬁaam%wwaﬁmwaﬂa‘?w
G BT G ST | |

(5) ?ﬂﬂﬁﬁﬁ RS
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138. The affective doimain in Mathématics education

méinly focuses oh which of the following?

(1) Mastering the use of various mathematical
tools.

(2) Achieving accuracy in solving equations.

(3) Encouraging students to solve mathematical
problems faster.

(4) Developing a positivé attitude and
appreciation for mathematics.

(5) Question not attempted

138. Maich List-T with List-II and select the correct
ariswer by using the code given below the lists —
List-I
(A) Who.discovered the right triangle?
(B) Who is known as the father of Indian
Mathematics?
(C) Who invented numbers?
(D) Whose life does the film. The Man Who
Knew Infinity primarily focuses on?
List-IT
(i) Brahmagupta
(i) Ramanujan
(iii) Aryabhata
(iv) Pythagoras
Code -

(1) A-Giv), B-Gii), C-(), D-Gi) © ﬁ
b ]

(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-~(iv), B~(iii), C-(ii), D-(i)
@) A-(i), B-(ii), C-(iv), D-(ii)

(5) Question not attempted

138.

139.

Rk Rer § waee &9 B 9% S|

Frefera & < frw W BT 87

(1) faf=r IR Susvel & SwRT § JeRd

. BN BT )

(2) ThEElt B T B F WA W BT |

3) B @ ISl ¥ IR wEeel B g

(@) T & TR TR gRewIor 3 wrE

iR BT | ‘

(5) srgalRa wes ’ '

-1 3 G-I § g o ok gRRY &

et Ry T Fe &1 9w TS GE IR T

- |

(A) F@IT BRS A wi e P

(B) WRI IRG & 9 F & w9 F 5y
ST 87 ‘

(C) SRl &l AfawR. e faar?

D) & #7 § g e e gem: foa &
A W Bfad 87
o

G e

(i) RS

(iliy IRFEe

(iv) UISUMIRE

e —

(1) A-(iv), B-(iii), C-(i), D-(ii)

(2) A-(3), B-(i), C(iii), D-(iv)

(8) A-(iv), B-(iii), C-(ii), D-(i)

(@) A-(i), B-(ii), C(iv), D-(iii)

(5) IrgaiRa v .
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140. What are some potential challenges associated

with integrating Mathematics with othet subjects
in the curriculum? .
(1) It can help the students see the relevance of

mathematlcs in the real world

(2) Itcan require teachers to have understanding

of both-subjects.

(3) It can make it easier to assess student

141.

142

learning.
(4) It can make teaching and learning'more
engaging & meaningful.
(5) Question not attempted ?
The deductive methdd in Mathematiés’ teaching
ernphasises on -

(1} using projects to solve real-world problem.
() moVing from specific instances to general
, rules.
(3) deriving  specific  conclusions  from

established general principles..
(4) encouraging students to experiment and find
their own solutions..

(5) Question not attempted

The project method in Mathematics teaching

focuses on - ‘

(1) Solving real-world problems through
student-centered projects. .

{2) Theoretical understanding of mathematical -

concepts.

140. 7137 &7 WggmA @ o fAwdl & ARy YHipd

T 9 ST o i eIt @ 87,
(1) I8 BE ® aRales g # IR @
YR SE ¥ WeE T £ '

@ zeb g Ret @ < Rl A o

TS YE B ALISaT B

(3) 9% B! © SIFTH P FHeT BT Gl ST
g ‘

(@) 75 o iR SRR B e srEdE dk
el =T 2

(58) sRIRa U=

141, R Reeror ¥ Frer R e 02 e &t 22

(1) arafde g B waERt B 5 B B

forg gRareFe @7 STERT R |

(2 it Sl ¥ 9mR FrEl @ eR
T |

@ wita W gkl 9 R Ay
 freprerr | _ -

(4) B B YA B AR AT FARE Do
% fore demfed F=AT

(5) 3rgaRa ue

142. R Rierr F uReiorT Y fra w S 2

&7 .
(1) pE—fad URISHRT & AT ¥ gRAde

T S FHERI B g F

{3) Deriving conclusions’ based on empirical ™ e

evidences. -
0] Memonsatlon of mathematlcal formulas and
procedures o

(5) Questlon not attempted

(4) IR AT Sl wfhareli & a1g FRAT
(5) R T o
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143.

Which method of teaching Mathematics

emphasises on students discovering
mathematical concepts”through exploration and
experimentz{ﬁon?

(1) Heuristic Method  (2) Inductive Method
(3) Deductive Method (4) Lecture Method

{5) Question not attempted

144. What is the major difference between the

145.

Herbartian Approach and the Morrison

Approach in lesson planning? .

(1) Morrison Approach places more importance _

on student feedback compared to Herbartian
Approach.
(2) Herbartian Approach focuses on: teaching
while

emphasises curriculum design.

methods, Morrison  Approach

(3) Herbartian Approach follows a linear lesson
structure, whereas Morrison Approach is
unit-based.

(4) Morrison Approach limits lesson planning to
theoretical concepts, unlike the Herbartian
Approach.

(3} Question not attempted

What is the primary characteristic of an

Achievement Test in Mathematics?

(1) ¥ measures students’ ability to apply

mathematical knowledge in real-life
situations. :

(2) It evaluates student’s performance after
completing a course or curriculum.

(3) It is used to analyse the student’s cognitive

- " and affective development.

n

143. 7fdrg fReyor Y B Y o) o e &)

TN B A Y T suRma B g
T OIR 3 87
(1) gRRes Ry
(3) Py AR
(8) SFRIRG 9%

(2) IFFETeTE R
@) =g ol

4. g5 grorm A waifdaa gfesior ok iR

-

siRepr @ 99 T u9E I T 87

A1 HiRyE gitep, gaiféas giemr #t ger
% 51 yfAfhar ) e wew ST 2

Ty (@) weEifden gfemor e R woam

BT H B, W ARG gied
Uggshd fSeIsT W WK & B
“(B)gRiicad gfcdIv] gob Mg uis | B
SRS B ¥ |
@ #iREE gfeper ue doET @ SEie
JRIROI: TF WG HEn T, oEid
gaifeas giemr Y7 TE B §
(8) sriRe W

145. 7R 3 ordiedic o o g=a faRiwar < €7

#

(1) I8 BF @ ORI 9M 3 aIES Sid
o1 ReIftrl # @] B== &1 &™ar S Jga
&1

(2) 7% UrgaHT R B & 918 B b TG
BT qoip+ YT -2 | '

(3) SHPT SUANT BIF & AP 3R FATHD
e @1 fivesy s & R R o
1

(@ It is designed to idéntify specific learning @) T vrEl 4 R ey H BREl B geaE
gaps in students. R B ferg Reopigs far v 2
{5) Question not attempted @) IPIRT T ’
5.% Page 29 of 32

S




r

146. Questions below consist: of two 'statements:

Assertion (A) and Reason (R), select, the
appropriate option based on these statements -
Assertion (A) + Mathematics teachers should
foster a positive and supportive learning
environment: .
Reason (R) : A positive classroom climate can
help’ students feel comfortablé ih Tzits'king
questions. r
(1) Both.(A) and (R) are'true and Reason'(R) is
correct explanation for Assertion (A). *
(2) Assertion (A) is true but Reason (R)is false.
(3) Both (A) & (R) are true but R"eason“.(R)’ is not
the correct explanation for-Assertion (A). -
(4) Assertion (A) is false'bth Reason (R) is'true.

(5) Question not attempted

147. A general objective of Mathematics teaching that

aligns with Bloom’s “Application” 1évelis -

(1) evaluate mathematical arguinents

(2) to memorise mathematicalfacts

(3) use mathematical knowledge to solve
problems .

(4} understand mathematicail concepts

(5) Question not attempted

*

148. Jtem discrimination is a measure of which of the

following? .

(1) How well an item distinguishes between
difficult & easy questions? M ¢

(2) How well an item distinguishes between high
and low achieving students?

(3) The effectiveness of distractors.

(4) The reliability of the test.

(5} Question not attempted

v

146. < frg 770 e & <) e R T & - e

(A) 3R BROT-(R); 3 BT & MR TR IR
fdped o1 9a9 DI —
FRFE (A) : T & Rl o te IeReS

3R TERE SRR A8 B Smal o Ay |

FRI (R) : TP APRIHAD P& BT AR B3l

B U UBY H G TEqd o # gl

P B |

(1.(A) 3R (R) M 99 § R IRT R),
st (A) & g et e &

(2) AP (A) TF & AfBT HRY (R) 6
g

3) (A) 3R R) TF ¥ € W= IR (R),
T (A) B fog T8 WHRY T8 £

(ﬂsﬁm@)m%éﬁmwm)w
B

(5) <IRe U9

147#%%%%%@@@@?%

"SI WR P W e & § —

(1) Tt Gl BT GeaidT PY

(2) o el @1 arg v

(3) T B BT B ® oY TR S
BT SYART Y

(@) PRI SEERoTel B WSl

(6) JaRa U

148. grigen: Yoy = ¥ § [59a AUT &1 Su™

87

, (1) B aNsed 5 PR Hiod g Smar 9w ]

P 49 T 3rel WRE SfaR e 87
(2) 3rS 3MSeH 924 ©@ (7 ofF W He ATl
BrEl ® d9 e e TRE SR e 87
(3) Ayl o gl |
(4 Tevr & fagaasiar |

(5) SFRIRT U=

55- @

Page 30 of 32 <




149. What is the main purpose of a remedial 149 7iforg & W B FHowA a9 T=91 3. ferg

programme for children with

difficulties in Mathematics?

(1 To
concepts.

learning

introduce advanced mathematical

(2) To provide additional support in areas where
they have shown difficulties.

(3) To prepare students for competitive exams.

(4) To help students revise topics they have
already mastered.

(5) Question not attempted

SUEARIAS SR B T Ieed T 87

150. Which of the following is a characteristic of 150-vfg ¥ wpuRfla REwr ¥ o 39w

programmed ledrning in Mathematics?

(1) It promotes social learning through peer
interaction.

(@) It follows a linear path with immediate
feedback for students.

(3) It allows students to explore topics without
guidance.

(4) 1t focuses on open-ended exploration of
mathematical cbncepts.

(5) Question not attempted

(1) ST TR SraeRona BT uRE &7

2)'S9 &= ¥ ARiRe woels yem ovem ol

| SR wieEdt Rer §)

(3) B HT gfoarl gdensi @ durs SR

(4) BT BT I a1 gy o # weg
T R 3 wme) & v g9 #

(5)- 3T e

Frfofa & & o @2

(1) gg 9o/ & 9 9| @ A9egq 9§

TS R B wgrer < 8

.2 7 vl & fore wRa wRifear & wwr o
e g2t BT SR BT B

(3) 7% BEl B 81 Arleds @1 fAwEh o1 ua

" B agEl S &

@) 78 TR SRR @ el W W
BT B

(8) srgaifee st

o
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